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(b)
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d

(e)

(7]

(h)
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(2}

How can the share capital of a company
be altered or reduced?

wF el A o7y of § ofeds o = e
YR S AHAT 87

What is meant by Minority Interest’?
How is it determined?

‘sreqEEEs & Ra wﬁqﬂﬂ&w”m«_ﬁm&ﬂs
gy T o R7

Describe the powers and functions of
the Commissioner of Income Tax.

AR FYE % AER TE FE w1 AU
HiRm) |

Mention the provisions related to
additional depreciation in detail.

ifafs g et wraurE! o faar | faRagy

Indicate briefly the weakness of
Job-order Cost Accounting.

qHd e @R B HRG w1 Gfm qolF
Hifsme|

Explain with examples the meaning
of cost-volume-profit analysis and
breakeven analysis.

mﬂa.ﬂﬂ.%w&ﬂmﬁﬁm&mwﬂﬂ
w1 34 HIETEw q9HET|

Write an essay on ‘Valuation of Assets’.

‘gt & qeaie’ W s e fafaw)

( Continued )

10.

(@)

(b)

(@)

(b)

(9)

Explain holder in due course. What are
the rights of a holder in due course?

IR urE ) wemEe| w IRy uiE %
1 AR §7

endorsement. Explain the
elements of valid

Define
essential
endorsement.

mgﬁ%nwﬁs&@m_wmgwﬁﬁﬂ
T Fau

Critically examine the essential features
of the Indian Banking Woms_maob
Act, 1949,

vt 3 framm sfifem, 1949 6 wg@
qrat ) IerEATTE e HNT|

What is a payment in due course? When
is banker justified in refusing payment
of cheque?

ettt yram = g 37 Fa o fh 9 .
T F3 ¥ T I 9 8 70 R gl
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12Y—100/25

(4)

uw & x fofiee & 31 w, 2012 = A
@l S w W PAefifas e Igeey 35

() Profit and Loss Account includes
the interim dividend at the rate of
10% free of tax from Y Ltd.

-7 @ra 7 Y fafile @ ww 10% #=-
ek i awiw aftifea @

(i) Stock includes Rs 30,000 of stock
at cost purchased from Y Ltd.

wa % Yy fafite & == e
30,000 %o & WA WFd W wfAfim §

(iii) Sundry creditors include Rs 90,000
for purchases from Y Ltd. on which
the later company made a profit
of Rs 22,500

fafew dert & 90,000 % Y fafiRe
A R W ae ¥ effile § e w
qE qIefl FEA Y 22,500 To F AN
fsfa T o

It is further stated that on 1st April,
2011 the Profit and Loss Account of
Y Ltd. stood at Rs 3,80,000 and the
General Reserve at Rs 22,500. No final

( Continued )

(b)

6. (a)

12Y—100/25 -

(7)

In a brass foundry, the standard mix
consists of 60% of copper and 40% of
zinc. The standard loss of production is
20%.

The standard mix and yield were as
follows :

T diqe w1t & s frsor # 60% anan
40% & ¥ IqTET ¥ TN &9 20% U
T for o SereA e wER o
Copper 60 kg @ Rs 10 per kg
Zinc © 40 kg @ Rs 5 per kg
Standard yield 80 kg

The actual mix and yield were as
follows :

IRafes fBsw @ SareT e v @ o

Copper 80 kg @ Rs 8 per kg
Zinc 70 kg @ Rs 45 per kg
Actual yield 128 kg .
O&nﬁmﬁa all types of B,m.nmn&?gmboow. 20
Wit yoR F sl o g fifv)

“Capital ,Ucammnbm is the total process

of generating, evaluating, selecting
and follow up of capital expenditure
alternatives.” Explain this statement. 20
Yot S Gt fewedt % 3gvm, e,

T AT Igad B T Ifear #1 39 wo
HHEATET |
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(6)

4. (@) How is a transfer of shares made
by limited company? Describe the
procedure and .the auditor’s duty
“in relation thereto. 20
T Hifia el g sivit o e e wR
T s }7 @) when w1 alt it ik =@
WY | ke ¥ w9 TqRY :

(b) Distinguish between a ‘clean report’ and
a ‘qualified report’ of an auditor. Draft
an  imaginary clean report in the
manner prescribed under the Act. - 20
IFgE N o R W walRe R
IR e fifw affaw g fuiie a6% @
T Feuts @es R W wrew wege Hifv)

S. (@) “Classification of overheads into fixed
and variable is highly helpful to the
management for efficient running of the
factory.” Discuss this statement. 20

“IufrEt #1 fRR ws wiadsier st 3 affe
w Y F e REET ¥G Wy W g
"R Ba1 21”7 30 W A smen fiftw
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(b)

(c)

(d)

12Y—100/26

(2)

What is the meaning of organisational
behaviour? Describe the characteristics
of organisational behaviour.

GTETTE AR Q@ T AEE 27 WRAHE
aen & frowaredt @ v fifva

What do you mean by ‘organisation
development™ Discuss its charac-
teristics.

e R ¥ AW A &7 agl
# f=m fikal

] eadership is the process by which an
executive directs, guides and influences
the work of others.” Discuss.

:waﬂmm%ww_ﬁwﬂaﬁ%ﬂ%
sfEat % w4 @ Ffe, deRfe @ wwisd
@ 21 A= fik

Discuss critically the present industrial
policy of Government of India. What are
its recent trends?

Wd TR h adow e hfa A
STeraTeTE when Bk e P et

¥ &7

What do you mean by labour welfare?
Discuss its scope and importance.

S AT | Y FT THGA &7, TH & 9 WeA
! TaRLl

(:Continued )

10. (q)

(b)

(7)

Who is responsible for the payment of
wages to workers under the Payment of
Wages Act? State the legal provisions
relating to wage periods and mode of
payment of wages.

ﬁ%ﬁﬂ%@ﬁwgﬂﬁmﬁ%%
¥ yum ¥ R @R swedht 37 el H
wREt qon et e A i % e |
HE YauE! F IgE R

Discuss the scope of unfair labour
practices under the Industrial Disputes
Act, 1947. Also state the penalty
provisions with regard to unfair labour
practices.

AMeifrs faw affEm, 1947 F i
i o9 FIER F &1 fd=m iRkl
s #9 SHEER ¥ FeElUd I08 graurl &

e
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(b)

(b)

5. (a)

(b)
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(4)

State the components of environment of
business organisation. How do they
influence business organisation?
Explain. ,

AEAE €e4 & AERTl & UHh B IgE
FiRm| A frg TR AEERE e H g

= &7 augmse|

Explain, in detail, Maslow’s ‘need
hierarchy theory’ of motivation.

HReA! <t IR B “sTravreRar vargEn R’
H R FHey|

“Effective leadership is a mixture of
three factors—the leader, the led and
the situation.” Examine this statement.

“guraqel e i awE—ar, srgarel ofr fRufy
= o §17 39w H afien fifkm)

Define ‘management by objectives’.
Discuss its objectives, advantages and
limitations.

‘ORy v # il A wE R,
il wd dimrett f e Al

Define ‘organisational behaviour’.
Describe the importance and limitations
of organisational behaviour.

‘WeTerR J|Egk’ wt R iR
TSI FEER & HEw T WA w1 g«
i)
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6.

¥

(@)

(b)

(@)

(b)
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(5)

Describe various tools and techniques
of organisational control.

greres Faae % fafte wruEl @ aedtet =
uiq il

What are the causes for resistance to
organisational change? What measures
would you take for effective manage-
ment of organisational change?

eI IRadT & Iy &% RE-HF § RO
T &7 3w wH we § E@SAens giEdd &
TEEd vy % f = g s\

Describe the rights, privileges and
liabilities of a registered trade union.

T Ui @ €9 % A, fomwited @
TR &1 Fuia e

What are the minimum and maximum
limits of bonus under the Payment of
Bonus Act? Under what circumstances,
deductions from bonus amount can be
made? State the process of recovery of
bonus.

g g aftfaem % arwla de At <Ea
T fteRan W = R7 S| B oft § | wAd
3 Tenett & it s wewdt 37 SFE fit swHRT TR

H et &t i s
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